Efficiency vs dr

0.2

[ NOFItZ_step
QM_Fit2_step2_ttbar-phasel-newgeom

ar-pnasel-Newgeo

M_Fit2AndCPEGeneric_step2_tthar-phasel-newgeom

E D
(== 88

M_Fit2AndCPETemplaté_step?_ttbar-phasel-newgeom

1072

) 1
TP min AR

[ Efficiency vs dr (track,jet) |

.§0.01
.009
£
Q.OOS
9.007
>
®.006
Q
359.005
)
0.004
0.003
0.002
0.001

[y

Efficiency vs pu

1072 107
AR(TP, jet)

5 0.0

0.002

Ratio

2 F o
0 A S R
L S e [ SULE RS S
[} F : : : :
K0 L0 S S SRR oreaces
= F : : : :
D006+ wteeee et P
0.005;— ------ -u- -------- -------
T s M
T
0.001;— ------ ----- "’é— -----
N S A I e
1. W N N .
1-— ------- é—--------é---n—---: ----- i e e e e e
0 30 40

0.95
2

50 60 70 80
Pileup




	Contents
	Page 1


